H & 0l & AHS B Ml A

FA: otd 2|t
M MEISIR AA
ol EE dE=d (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ot 2te| ot 13,428,154 11,960,216 1,467,938
= 1,744,840
[ 1,078,000
= 4,331,200
Al 3,174,114
H 3,100,000
Efote =4 12,858,025 11,228,139 1,629,886
= 1,744,840
s 1,078,000
== 4,331,200
Al 2,603,985
H 3,100,000
S dE=SH 23,900 23,000 900
&3 A2 23,900 23,000 900
201 er2 3| 12,000 6,000 6,000
02 S3=gHl 12,000 6,000 6,000
o=sd des S 12,000
401 AIEHIZ SR OHYI 11,900 17,000 A5,100
01 Al&HI 11,900 17,000 25,100
OL&d sHetZIfd A 11,900
ote2el 7,934,125 6,515,139 1,418,986
= 1,744,840
[ 1,078,000
= 3,831,200
Al 1,280,085
HENSHE RAl2tel 50,000 60,000 10,000
206 MH=H| 20,000 30,000 10,000
01 M=4l 20,000 30,000 10,000
Ot F A2l 20,000
308 AFAIEHMSOIE 30,000 30,000
13 SI[2S0He & A AS A 30,000 30,000
Odthotd 82 & &1 30,000
MEHSIE (A& S0 2el 100,000 200,000 100,000
401 Al HIZL 201 100,000 200,000 100,000
01 Al&H| 100,000 200,000 100,000
OMEHoIE (AIEs0t) 2l 100,000
A5t FHIAIS (B EA) 10,000 20,000 10,000
401 AlZHIZ 01| 10,000 20,000 10,000
01 AlZH| 10,000 20,000 10,000
O2otd ZHIAY 10,000
ot NE RAIE 250,000 360,000 110,000
< 250,000




FA: otd 2|t
HE: MEHSHE X4
Che: ot &el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 250,000 360,000 A110,000
= 250,000
01 AlZ8| 250,000 360,000 A110,000
Octa MY FA2= 250,000
< 250,000
Agotd 2 dsl 250,000 251,000 1,000
401 AlZHIZ SO 250,000 251,000 21,000
01 A28l 250,000 250,000 0
OXlgotd SHEH] 250,000
HENotEEs 25 & 29 NE 115,285 107,285 8,000
307 elztol & 115,285 107,285 8,000
02 ItB A HE L 20,000 12,000 8,000
OdthotdEolsl &= & =29 X& 20,000
03 2IIHHEE2SHIE X 95,285 95,285 0
OHMEHoIEE S 2SI 95,285
RN 1,667,840 612,000 1,085,840
= 1,667,840
401 Al HIZL 048I 1,667,840 612,000 1,065,840
= 1,667,840
01 Al&HI 1,665,840 611,000 1,064,840
O=Jlotd 72+ 1,665,840
= 1,665,840
03 AIZSTHYI 2,000 1,000 1,000
O=Itotd 7 X2 2,000
= 2,000
ot&ot= M)l HatAte 110,000 110,000 0
= 77,000
Al 33,000
101 21AH| 92,000 92,000 0
= 64,400
Al 27,600
M ORNZZ2NSE S 92,000 92,000 0
Ovot&Eot7 XAeJ] EatAY 92,000
= 64,400
Al 27,600
201 Ler=23 | 18,000 18,000 0
= 12,600
Al 5,400
01 AtR2t2|HI 18,000 18,000 0
Odtd™ot= &0 oAt 18,000
= 12,600
Al 5,400




FA: otd 2|t
HE: MEHSHE X4
Che: ot &el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A dEote SREAY Atz 20,000 20,000
401 AIZHIZ SO 20,000 20,000
01 Al&HI 20,000 20,000
O&d MEIoHE STAIY AtZ 2L 20,000
a& o0l St=dHIAE 200,000 200,000
401 AIEHIX R0 200,000 200,000
01 A28l 200,000 200,000
O8d THoHMZ St=FHIAIE 200,000
NLotEFH(RGE) (HEALY) 3,150,000 700,000 2,450,000
[ 3,150,000
401 AIEHIX R0 3,150,000 700,000 2,450,000
= 3,150,000
01 Al&H| 3,150,000 560,000 2,590,000
OXLstdEEI(*EH) 3,180,000
= 3,150,000
ZALE THoH A X+ EHIAL 1,509,200 980,000 529,200
= 1,078,000
=S 431,200
401 Al HIZL 01| 1,509,200 980,000 529,200
= 1,078,000
== 431,200
01 Al&H| 1,509,200 980,000 529,200
OABAE Mol IS X+ FHIAE 1,508,200
= 1,078,000
< 431,200
Ot2l AGHE FH| AFE(HEALY) 500,000 500,000
308 AFAIEHMSOIE 500,000 500,000
07 AXEH2LFE= 500,000 500,000
©'25E MFAl AIHRES 500,000
St zte| HRFA 1,800 2,000 A200
203 HR=H] 1,800 2,000 A200
03 A=A R =NH] 1,800 2,000 A200
Ootd 2| e 1,800
elrSk=a=P it 1,300,000 990,000 310,000
ol SSaAYE XA 100,000 500,000 400,000
401 AIZHIX S0HH 100,000 500,000 400,000
01 AlZH| 100,000 500,000 A400,000
Odld SSotEa EXIAY 100,000
HFH - o SERSS MY 1,000,000 0 1,000,000
401 AIEHIZ SR OHYI 1,000,000 1,000,000
01 Al&HI 1,000,000 1,000,000
OHFd - & Se2a82t ZEAMY 1,000,000
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FA: otd 2|t
M HARAZH|(ctE2elnt)
St D=2l (ord 2l (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 15,580 15,573
01 At2teltl 14,580 14,573
Odgt+=ZH| 7,776
o= gl 6,804
02 S3=gHl 1,000 1,000 0
o0sE2= & MM S 1,000
202 04| 9,849 9,504 345
01 =LHO LI 9,849 9,504 345
OJ|=gR=A0H| 9,849
203 HR=H| 2,700 3,000 A300
M 2= 2,700 3,000 A300
ORNEgE =AY

225,000& 128 2,700




